Matematyka I, zadania domowe, seria VI

Zadania 1.
Zredukuj nastepujace wyrazenia:

a) cos(x — )

b) tan (x + %7?)
¢) cot @w - x)
d) sin <;7r - :)3)

Zadania 2.
Rozwiaz réwnania:

1
a) tan(z)sin(2z) = 3

sin(x) tan(z) sin?(z — ) 4 cos®(z + ) =
cos(x)cot(:c)+ ( )+ @tm)=0

o) [cos(ﬁ +2) +sin (gw _ :)3) + cot (gw - x)] tan(z) — 3

Zadania 3.
Rozwiaz nieréwnosci:
a) 4sin(x) cos(x) < —1

b) tan(x) [1 + sin(2x)] + cos(2z) > 0
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c) 2cos (293 + §7r) tan <§7r + :17) > 1

Zadania 4.

Rozwiaz réwnania:

a) cot?(z) + cot(x) — 3tan(x) = 3, w zbiorze |0, 7|
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b) 4sin(x) — 2sin(2z) = tan(x), w zbiorze } —5™ §7r[



Zadania 5.

Wyprowadz wzory:

a) sin(3z) = 3sin(z) — 4sin’(x)

b) tan(z) + cot(y) =

_ cos(x — y)
cos(x) sin(y)

Odpowiedzi
1. a) —cos(x)
1. b) — cot(x)
1. ¢) tan(x)
1. d) — cos(x)
2. a)z € {(k‘i—%) w,kGZ}
2. b)x e {(k—%)w,keZ}
2.¢c)x € {(]{Z:l:%)ﬂ',kEZ}
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3.a)z € U }E—I—k‘w,ﬁjtkﬁl

keZ

s s

3.b)ze U [—Z—I—k‘w,E—l—k‘w[

keZ

s s

3.¢)ze | }—§+lm,§+lm[

keZ

1
4. a)x € {671', iw, gw}
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4. b))z € {—gw,O, 3%}



